The Amazing Significant Figure Race

Directions:

Persons one and two in each row are Group 1


Group 1: Calculate the answers to get (A)

Persons three and four in each row are Group 2


Group 2: Calculate the answers to get (B)

Each Row works together to get answer using (A) and (B)

First Row to put correct answer on board wins prize

THEN: Once all 6 Rows are on the board, the first Row to bring the “BIG ANSWER” to me wins prize

“BIG ANSWER”

[Row 5 + Row 2 + Row 6] 

=    ?

[Row 1 x Row 3]

The Amazing Significant Figures Race

Row _____1______
Group _____1______

1) 122.52 x 0.02010 _____________ (a)

2) 581.01 + 114 + 2109.3 ____________ (b)

3) (.0375 - 0.001580)(1.112 x 10-2) ___________ (c)

4) (5.200 x 1012)(2.18 x 104) divided by (5 x 102 + 1.00 x 103) _______________ (d)

[ d + a ] divided by c x b _________________ (A) 

The Amazing Significant Figures Race

Row _____1______
Group _____2______

5) 642.52 x 0.03350 _____________ (a)

6) 734.01 + 224 + 6402.3 ____________ (b)

7) (.0084 - 0.006480)(7.004 x 10-2) ___________ (c)

8) (6.800 x 107)(1.77 x 104) divided by (2.2 x 102 + 6.00 x 103) ______________ (d)

[ d + a ] divided by c x b _________________ (B) 


Group 1 (A) x Group 2 (B) 

The Amazing Significant Figures Race

Row _____2______
Group _____1______

9) 27.12 x 0.0490 _____________ (a)

10) 381.01 + 710 + 41.3 ____________ (b)

11) (.0070 - 0.004040)(6.001 x 10-7) ___________ (c)

12) (2.004 x 109)(8.00 x 10-2) divided by (3.04 x 102 + 2 x 103) ______________ (d)

[ d + a ] divided by c x b _________________ (A) 

The Amazing Significant Figures Race

Row _____2______
Group _____2______

13) 900 x 0.20 _____________ (a)

14) 142.0 + 50 + 41.3 ____________ (b)

15) (2.004 - 0.004040)(7.7 x 10-7) ___________ (c)

16) (5.0 x 105)(2.440 x 10-3) divided by (3.04 x 102 + 2 x 103) ______________ (d)

[ d + a ] divided by c x b _________________ (B) 

Group 2 (B) divided by Group 1 (A)

The Amazing Significant Figures Race

Row _____3______
Group _____1______

17) 900 x 0.20 _____________ (a)

18) 142.0 + 50 + 41.3 ____________ (b)

19) (2.004 - 0.004040)(7.7 x 10-7) ___________ (c)

20) (5.0 x 105)(2.440 x 10-3) divided by (3.04 x 102 + 2 x 103) ______________ (d)

[c x a] + [d – a] _________________ (A) 

The Amazing Significant Figures Race

Row _____3______
Group _____2______

21) 900 x 0.20 _____________ (a)

22) 142.0 + 50 + 41.3 ____________ (b)

23) (2.004 - 0.004040)(7.7 x 10-7) ___________ (c)

24) (5.0 x 105)(2.440 x 10-3) divided by (3.04 x 102 + 2 x 103) ______________ (d)

(a) divided by (b + d)(c) _________________ (B)


      Group 1 (A) divided by Group 2 (B) 

The Amazing Significant Figures Race

Row _____4______
Group _____1______

25) 122.52 x 0.02010 _____________ (a)

26) 581.01 + 114 + 2109.3 ____________ (b)

27) (.0375 - 0.001580)(1.112 x 10-2) ___________ (c)

28) (5.200 x 1012)(2.18 x 104) divided by (5 x 102 + 1.00 x 103) _______________ (d)

(d) divided by (a + b + c) _________________ (A) 

The Amazing Significant Figures Race

Row _____4______
Group _____2______

29) 642.52 x 0.03350 _____________ (a)

30) 734.01 + 224 + 6402.3 ____________ (b)

31) (.0084 - 0.006480)(7.004 x 10-2) ___________ (c)

32) (6.800 x 107)(1.77 x 104) divided by (2.2 x 102 + 6.00 x 103) ______________ (d)

b x a divided by (c + d) _________________ (B) 


Group 1 (A) minus Group 2 (B)

The Amazing Significant Figures Race

Row _____5______
Group _____1______

33) 900 x 0.20 _____________ (a)

34) 142.0 + 50 + 41.3 ____________ (b)

35) (2.004 - 0.004040)(7.7 x 10-7) ___________ (c)

36) (5.0 x 105)(2.440 x 10-3) divided by (3.04 x 102 + 2 x 103) ______________ (d)

[d + a – c] divided by b _________________ (A) 

The Amazing Significant Figures Race

Row _____5______
Group _____2______

37) 900 x 0.20 _____________ (a)

38) 142.0 + 50 + 41.3 ____________ (b)

39) (2.004 - 0.004040)(7.7 x 10-7) ___________ (c)

40) (5.0 x 105)(2.440 x 10-3) divided by (3.04 x 102 + 2 x 103) ______________ (d)

[ b + a – c] divided by d _________________ (B) 


Group 2 (B) divided by Group 1 (A)

The Amazing Significant Figures Race

Row _____6______
Group _____1______

41) 122.52 x 0.02010 _____________ (a)

42) 581.01 + 114 + 2109.3 ____________ (b)

43) (.0375 - 0.001580)(1.112 x 10-2) ___________ (c)

44) (5.200 x 102)(2.18 x 104) divided by (5 x 102 + 1.00 x 103) _______________ (d)

[a + b] divided by (c x d) _________________ (A) 

The Amazing Significant Figures Race

Row _____6______
Group _____2______

45) 642.52 x 0.03350 _____________ (a)

46) 734.01 + 224 + 6402.3 ____________ (b)

47) (.0084 - 0.006480)(7.004 x 10-2) ___________ (c)

48) (6.800 x 107)(1.77 x 104) divided by (2.2 x 102 + 6.00 x 103) ______________ (d)

[ b + a ] divided by c x d _________________ (B) 


Group 1 (A) x Group 2 (B) 

On Index Cards:

No Names

(1.2 x 10-4)(0.020) – 4.8 x 10-2
       (10 + .343 + 112.2)
